

The following documentation is an electronicallysubmitted vendor response to an advertised solicitation from the *West Virginia Purchasing Bulletin* within the Vendor Self-Service portal at *wvOASIS.gov*. As part of the State of West Virginia's procurement process, and to maintain the transparency of the bid-opening process, this documentation submitted online is publicly posted by the West Virginia Purchasing Division at *WVPurchasing.gov* with any other vendor responses to this solicitation submitted to the Purchasing Division in hard copy format.



WOASIS	Jump to: PRCUID 🛕 Go 😚 Home 🔑 Personalize 🐼 Accessibility 📴 App Help 🌾 About 🔟
Welcome, Robert M Ross Solicitation Response(SR) Dept: 0210 ID: ESR09262200000001533 Ver.: 1 Function: New Phase: Final Modified by batch , 10/04/2022	Procurement Budgeting Accounts Receivable Accounts Payable
Header () 1	
General Information Contact Default Values Discount Document Information Clarification Request	E List View
Procurement Folder: 1104946	SO Doc Code: CRFQ
Procurement Type: Central Master Agreement	SO Dept: 0210
Vendor ID: VS0000020308	SO Doc ID: ISC230000002
Legal Name: WORLD WIDE TECHNOLOGY LLC	Published Date: 9/26/22
Alias/DBA:	Close Date: 10/4/22
Total Bid: \$759,360.00	Close Time: 13:30
Response Date: 09/26/2022	Status: Closed
Response Time: 8:50	Solicitation Description: Addendum #1 SentinelOne Ranger Pro, or Equal (OT23027)
Responded By User ID: WWTsled	Total of Header Attachments: 1
First Name: Carol	Total of All Attachments: 1
Last Name: Harting	
Email: carol.harting@wwt.com	
Phone: 314-995-6103	



Department of Administration Purchasing Division 2019 Washington Street East Post Office Box 50130 Charleston, WV 25305-0130

State of West Virginia Solicitation Response

Proc Folder:	1104946					
Solicitation Description:	Addendum #1 Se	entinelOne Ranger Pro, or Equal (OT23027)				
Proc Type:	Central Master A	greement				
Solicitation Closes		Solicitation Response Version				
2022-10-04 13:30		SR 0210 ESR09262200000001533	1			

VENDOR					
VS0000020308 WORLD WIDE TECHNC	LOGY LLC				
Solicitation Number:	CRFQ 0210 ISC2300000002				
Total Bid:	759360	Response Date:	2022-09-26	Response Time:	08:50:21
Comments:					

 FOR INFORMATION CONTACT THE BUYER

 Jessica L Hovanec

 304-558-2314

 jessica.l.hovanec@wv.gov

 Vendor

 Signature X
 FEIN#

 DATE

All offers subject to all terms and conditions contained in this solicitation

Line	Comm Ln Desc	Qty U	nit Issue	Unit Price	Ln Total Or Contract Amount
1	SentinelOne Ranger Pro, or equal, for 20,000 devices	20000.000 E	A	9.040000	180800.00
Comm	Code Manufacturer		Specific	ation	Model #
4323000	00				
Commo	dity Line Comments:				
Extende	ed Description:				
Sentinel	One Ranger Pro, or equal, for 20,000 devices				
Line	Comm Ln Desc	Qty U	nit Issue	Unit Price	Ln Total Or Contract Amount
2	SentinelOne Ranger Pro, or equal, for 1,000 devices	1000.0000 E	A	9.040000	9040.00
Comm	Code Manufacturer		Specific	ation	Model #
432300	00				
Commo	dity Line Comments:				
Extende	ed Description:				
Sentinel	One Ranger Pro, or equal, for 1,000 devices				
Line	Comm Ln Desc	Qty U	nit Issue	Unit Price	Ln Total Or Contract Amount
	SentinelOne Ranger Pro, or equal, for 20,000	20000 000 E	A	9.040000	180800.00
3	devices - YR2				
3 Comm	devices - YR2		Specific	ation	Model #
Comm	devices - YR2 Code Manufacturer			ation	Model #
Comm (432300)	devices - YR2 Code Manufacturer 00			ation	Model #
Comm (432300(Commo	devices - YR2 Code Manufacturer 00 dity Line Comments:			ation	Model #
Comm 4323000 Commo Extende	devices - YR2 Code Manufacturer 00			ation	Model #
Comm 4323000 Commo Extende Sentinel	devices - YR2 Code Manufacturer 00 dity Line Comments: ed Description: IOne Ranger Pro, or equal, for 20,000 devices -	YR2	Specific		
Comm 4323000 Commo Extende Sentinel	devices - YR2 Code Manufacturer 00 dity Line Comments: ed Description:	YR2	Specific: nit Issue	ation Unit Price 9.040000	Model # Ln Total Or Contract Amount 9040.00
Comm 4323000 Commo Extende Sentinel Line 4	devices - YR2 Code Manufacturer 00 dity Line Comments: ed Description: IOne Ranger Pro, or equal, for 20,000 devices - Comm Ln Desc SentinelOne Ranger Pro, or equal, for 1,000 devices - YR2	YR2 Qty U	Specific: nit Issue	Unit Price 9.040000	Ln Total Or Contract Amount 9040.00
Commo 4323000 Commo Extende Sentinel Line	devices - YR2 Code Manufacturer 00 00 dity Line Comments: Manufacturer ed Description: 000 IOne Ranger Pro, or equal, for 20,000 devices - 000 Comm Ln Desc SentinelOne Ranger Pro, or equal, for 1,000 devices - YR2 Code Manufacturer	YR2 Qty U	Specific: nit Issue	Unit Price 9.040000	Ln Total Or Contract Amount
Commo 4323000 Commo Extende Sentinel Line 4 4 4323000	devices - YR2 Code Manufacturer 00 00 dity Line Comments: Manufacturer ed Description: 000 IOne Ranger Pro, or equal, for 20,000 devices - 000 Comm Ln Desc SentinelOne Ranger Pro, or equal, for 1,000 devices - YR2 Code Manufacturer	YR2 Qty U	Specific: nit Issue	Unit Price 9.040000	Ln Total Or Contract Amount 9040.00
Commo 4323000 Commo Extende Sentinel Line 4 4 2 2000 Commo	devices - YR2 Code Manufacturer 00 00 dity Line Comments: Manufacturer ed Description: 00 IOne Ranger Pro, or equal, for 20,000 devices - 00 Comm Ln Desc SentinelOne Ranger Pro, or equal, for 1,000 devices - YR2 Code Manufacturer 00 00	YR2 Qty U	Specific: nit Issue	Unit Price 9.040000	Ln Total Or Contract Amount 9040.00
Commo Extende Sentinel Line 4 Commo Commo Extende	devices - YR2 Code Manufacturer 00 00 dity Line Comments: Manufacturer ed Description: 100 IOne Ranger Pro, or equal, for 20,000 devices - 100 Comm Ln Desc SentinelOne Ranger Pro, or equal, for 1,000 devices - YR2 Code Manufacturer 00 00 dity Line Comments: 100	YR2 Qty U 1000.0000 E	Specific: nit Issue	Unit Price 9.040000	Ln Total Or Contract Amount 9040.00
Commo Extende Sentinel Line 4 Commo Extende Sentinel	devices - YR2 Code Manufacturer 00 dity Line Comments: ed Description: IOne Ranger Pro, or equal, for 20,000 devices - IOne Ranger Pro, or equal, for 20,000 devices - Comm Ln Desc SentinelOne Ranger Pro, or equal, for 1,000 devices - YR2 Code Manufacturer 00 dity Line Comments: ed Description:	YR2 Qty U 1000.0000 E	Specific: nit Issue	Unit Price 9.040000	Ln Total Or Contract Amount 9040.00
Commo Extende Sentinel Line 4 2323000 Commo Extende	devices - YR2 Code Manufacturer 00 dity Line Comments: ed Description: IOne Ranger Pro, or equal, for 20,000 devices - Comm Ln Desc SentinelOne Ranger Pro, or equal, for 1,000 devices - YR2 Code Manufacturer 00 dity Line Comments: ed Description: IOne Ranger Pro, or equal, for 1,000 devices - Y	YR2 <u>Qty U</u> 1000.0000 E	Specific:	Unit Price 9.040000 ation	Ln Total Or Contract Amount 9040.00 Model #
Commo Extende Sentinel Line 4 4 2 2 2 3 2 3 3 3 3 3 3 3 3 3 3 3 3 3	devices - YR2 Code Manufacturer 00 dity Line Comments: ed Description: IOne Ranger Pro, or equal, for 20,000 devices - Comm Ln Desc SentinelOne Ranger Pro, or equal, for 1,000 devices - YR2 Code Manufacturer 00 dity Line Comments: ed Description: IOne Ranger Pro, or equal, for 1,000 devices - Y Code Manufacturer 00 dity Line Comments: ed Description: IOne Ranger Pro, or equal, for 1,000 devices - Y Comm Ln Desc SentinelOne Ranger Pro, or equal, for 20,000 devices - Y SentinelOne Ranger Pro, or equal, for 20,000 devices - YR3	YR2 <u>Qty U</u> 1000.0000 E	Specific:	Unit Price 9.040000 ation Unit Price 9.040000	Ln Total Or Contract Amount 9040.00 Model # Ln Total Or Contract Amount

SentinelOne Ranger Pro, or equal, for 20,000 devices - YR3

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
6	SentinelOne Ranger Pro, or equal, for 1,000 devices - YR3	1000.00	000 EA	9.040000	9040.00
Comm	Code Manufacturer		Specifica	ation	Model #
432300	000				
Commo	odity Line Comments:				
Extend	led Description:				
Sentine	None Ranger Pro, or equal, for 1,000 devices -	YR3			
Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
7	SentinelOne Ranger Pro, or equal, for 20,000 devices - YR4	20000.0	000 EA	9.040000	180800.00
Comm	Code Manufacturer		Specifica	ation	Model #
432300	000				
Commo	odity Line Comments:				
Extend	led Description:				
Sentine	elOne Ranger Pro, or equal, for 20,000 devices	YR4			
Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
8	SentinelOne Ranger Pro, or equal, for 1,000 devices - YR4	1000.00	000 EA	9.040000	9040.00

Comm Code	Manufacturer	Specification	Model #	
43230000				

Commodity Line Comments:

Extended Description:

SentinelOne Ranger Pro, or equal, for 1,000 devices - YR4



Sales Quote # Quote Da Expiration Quote Na	n Date OCT-23-2022 State of West Virgin	Submitted By ISR Peter Michael Peter.Marrano		Submitted STATE OF WEST			Issue PO To World Wide Technolo, 1 World Wide Way Saint Louis, MO 63146	
LINE #	MANUFACTURER PART #	MANUFACTURER	QTY	LIST PRICE	EXT. LIST PRICE	DISC %	CUST. PRICE	EXT. PRICE
Year 1								
1	SP-RGR-ND-T7-S	SENTINELONE, INC.	20,000	\$17.28	\$345,600.00	47.69%	\$9.04	\$180,800.00
	Description: Ranger Protection	Platform- Enterprisewide Discovery of IT/Io	Γ, Attack Surface Reduction	, Peer-to-Peer Deploy	ment Capability for Sen	tinelOne Agen	ts Term: 12 Months	
2	SP-RGR-ND-T7-S	SENTINELONE, INC.	1,000	\$17.28	\$17,280.00	47.69%	\$9.04	\$9,040.00
	Description: Ranger Protection	Platform- Enterprisewide Discovery of IT/Io	Γ, Attack Surface Reduction	, Peer-to-Peer Deploy	ment Capability for Sen	tinelOne Agen	ts Term: 12 Months	
Year 2								
3	SP-RGR-ND-T7-S	SENTINELONE, INC.	20,000	\$17.28	\$345,600.00	47.69%	\$9.04	\$180,800.00
	Description: Ranger Protection	Platform- Enterprisewide Discovery of IT/Io	Γ, Attack Surface Reduction	, Peer-to-Peer Deploy	ment Capability for Sen	tinelOne Agen	ts Term: 12 Months	
4	SP-RGR-ND-T7-S	SENTINELONE, INC.	1,000	\$17.28	\$17,280.00	47.69%	\$9.04	\$9,040.00
	Description: Ranger Protection	Platform- Enterprisewide Discovery of IT/Io	Γ, Attack Surface Reduction	, Peer-to-Peer Deploy	ment Capability for Sen	tinelOne Agen	ts Term: 12 Months	
Year 3								
5	SP-RGR-ND-T7-S	SENTINELONE, INC.	20,000	\$17.28	\$345,600.00	47.69%	\$9.04	\$180,800.00

 SP-RGR-ND-T7-S
 SENTINELONE, INC.
 1,000
 \$17.28
 \$17,280.00
 47.69%
 \$9.04

 Description: Ranger Protection Platform- Enterprisewide Discovery of IT/IoT, Attack Surface Reduction, Peer-to-Peer Deployment Capability for SentinelOne Agents Term: 12 Months

\$9,040.00

Description: Ranger Protection Platform- Enterprisewide Discovery of IT/IoT, Attack Surface Reduction, Peer-to-Peer Deployment Capability for SentinelOne Agents Term: 12 Months

LINE #	MANUFACTURER PART #	MANUFACTURER	QTY	LIST PRICE	EXT. LIST PRICE	DISC %	CUST. PRICE	EXT. PRICE
Year 4								
7	SP-RGR-ND-T7-S	SENTINELONE, INC.	20,000	\$17.28	\$345,600.00	47.69%	\$9.04	\$180,800.00
	Description: Ranger Protection Platfo	orm- Enterprisewide Discovery of IT/IoT, Attack S	Surface Reduction, F	Peer-to-Peer Deploy	ment Capability for Sent	inelOne Agents 1	Ferm: 12 Months	
8	SP-RGR-ND-T7-S	SENTINELONE, INC.	1,000	\$17.28	\$17,280.00	47.69%	\$9.04	\$9,040.00
	Description: Ranger Protection Platfo	orm- Enterprisewide Discovery of IT/IoT, Attack S	Surface Reduction, F	Peer-to-Peer Deployi	ment Capability for Sent	inelOne Agents 1	Ferm: 12 Months	

	TOTALS
\$759,360.00	Subtotal
\$0.00	Estimated Shipping
\$0.00	Estimated Tax
\$759,360.00	Total Price

This quote is WWT Confidential Information.

Seller provides all products and original manufacturer services to Buyer only in accordance with any applicable original manufacturer terms and conditions within the applicable end user license agreement, terms of service, or similar legal instrument.

Unless expressly stated herein, price quotes are valid for 30 days and are subject to change thereafter.

Due to recent trade tensions between the US and China, increasing tariffs have been levied on goods manufactured in each country that are imported into the other. As a result, prices quoted are subject to adjustment for changes in the tariff rates.

Unless expressly stated herein, prices do not include, and Buyer is responsible for, any and all taxes, handling, shipping, transportation, duties or other charges or fees relating to the sale and delivery of products. Products may only be returned in accordance with the original manufacturer's RMA policy.

Items returned after 30 days of receipt may not be returnable due to vendor restrictions.

All delivery dates are approximate and not guaranteed.

Products will be shipped in accordance with FCA WWT's shipping point (Incoterms 2010), unless otherwise stated herein or agreed to by both parties in writing in a contract. Title and risk of loss will transfer to Buyer at WWT's shipping point.

Payment terms are net 30, unless otherwise agreed to by both parties in writing.

All products and services are provided to Buyer in accordance with Seller's terms of sale at https://www.wwt.com/TermsAndConditions/TermsAndConditions.doc; provided that, if Buyer has a master agreement in place with WWT, the master agreement will apply in lieu thereof.

State Fees include Electronic Waste Fees specific to each state that fund recycling programs for Electronic Waste such as computers, monitors, televisions, audio equipment, printers, and other electronic devices as required by law. CA charges an Electronic Waste Fee for Monitor disposal.

As you may be aware, global supply chains across all industries are facing uncertain impacts from the Coronavirus. WWT is monitoring the situation closely and is in constant contact with our suppliers and partners so that quoted lead times are as accurate as possible. Due to the quickly evolving nature of this situation, please be advised that it is possible that quoted lead times and delivery dates may change with little or no notice. WWT will continue to work with customers and suppliers/partners to evaluate options to minimize any impact.

Within the 30 day quote validity period WWT reserves the right to revise the quote due to exchange rate fluctuations.